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The figures in the margin indicate marks of question.

Candidates should answer in their own words

and adhere to the word limit as practicable. Bey frce 23
All symbols are of usual significance.

1. Answer any five questions from the following:

e @-@i 26 etsa Teg wies

(a) Define p-value.
p-value -3 R\ 7S |
(b) Why is error term introduced in Econometric model?
Econometric TS TSI &8 (& F91 T 9
(c) Define type II error.
faor e wifes @l wis)
(d) What is level of significance?
Sledq Tl F0S F QIR 9
(e) What is non-parametric test?
H-2iifNfeF =19 FIE A ?
(f) Distinguish between ‘unbiased’ and ‘consistent’ parameter.
faer ¢ arRRIES ~pafbias o A Sl
(g) Define a dichotomous variable.
fadios et el wie |
(h) What is standard error of a statistic?
Statistic-93 WS IS I F QIR0 ?
(i) Distinguish between partial effect and joint effect.
i @eld 6 I SfIRE S A P |

(j) Write two examples of dummy variable.

CIfsl 5o1Ca g6 Swizael wie )
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2. Answer any four questions from the following;: 5x4 =20

i @-@ia 51aff 2k Sag wes

(@) ‘If Ho is accepted at @;% level of significance and «; < ay, it will definitely be
accepted at a,% level of significance™— Is it true?
Ho & @)% OIRARQ AR 52S 2051 GR o) <y 205, 6l 0% OINAD JGIC08
RELCIIG B A E L

(b) *The non-stochasticity of X is sufficient but not necessary to ensure the linearity
of Classical Linear Regression Model.”— Do you agree?
"R FINARD AGNYS WUe V-9d STEIATel W2 ¥, e ey aw— gf
& 7w ¢

(¢) "The choice of the level of significance depends on the purpose of hypothesis
testing”.— Justify.

TSI WA 5 & AR Srwed eofd e I — 3l i Fe
(d) A production function is specified as
Y=a+ B X, +p, X, +u;, u,~IN(0,0%)
The following data are found from a sample of size 23:
x=10 Xx,=5 y=12 §,=12 §,=8
Sp=12 §,=10 S, =8 S, =10

Compute intercept and slope estimates along with their standard errors.
96 BeAMA SAFS AT @

Y=a+ B X, + B Xy, +u;, u, ~1IN(0,0%)
@3fb 23 IR T (A ST T
x=10 x,=5 y=12 §,=12 §,=8
Sp=12 S,=10 S,,=8 5, =10
(N TS 6 Tl SN WA 8 SInd WjF A ey v

(e) Discuss the BLUE properties of OLS estimates.
OLS S=e3d BLUE «{esfet Seesa1 3|

(f) In the model Y = X, + B, X, +u, the estimates are,BAl =1, ,Bz =1 . If an
observation is dropped, the new values are [3, = —%, ,Bz =3. State with reason
whether multicollinearity exists between two explanatory variables or not.

Y =0 X, + B, X, +u, O
SR @ §=1, B =1
a3f5 oeerd aw fie wgd wWel @ 4 =-1 B,=31 46 v W
Fefformel Sz foal I&T2 @1
(g) Describe the DW Test for detecting autocorrelation.
IR ST i & DW AR Sicars s

(h) Distinguish between R* and adjusted R%. What is the relevance of adjusted R*? 3+2
R? @ oAfaifere R @q we A S #fmfers R aq olesn & o
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(a)

(b)

(c

~"

(d)

5011

Answer any fwo questions from the following:

frfeiie -t 46 aeia Seg wias

Consider the following Classical Linear Regression Model:
Y, =a+1.5 X, +e, where

SE;=0.5, 1" =0.5, ¥=10, y=25, x’ =2201, Ty’ = 6895

-

Find the following:

(1) the sample size;

(i)  the estimated intercept;

(i) the residual sum of squares (RSS)

o) SRS TR Woees 2

Y=a+15X +e,

@AMA SE5=0.5, r*=0.5, x=10, y=25, x> =2201 &k Ly? =6895
fraferie amef fad s

() R ST

(i) SIS

(iii) RSS.

Specify a multiple regression model. Explain how its parameters are estimated
by OLS method.

gl @d efoiyfs Wed R F@ @3 Wew OLS “we @ [Feiw
bR Swum @ =7 i s

Specify a regression model with an ‘intercept dummy variable’. Interprete the
model. In this context, explain the concept of dummy variable trap.

W Ty 5oz @b 2fergfe wea fAfWe ¢ g I @2 2 Ty 559 T
1N I |

What is heteroscedasticity? ‘Heteroscedasticity in error term leads to biased
OLS estimates of the regression coefficient and its standard error'— Do you
agree? Describe a test to detect heteroscedasticity.

faaw figfe S A ¢ =fositn [TAARYRS AT OLS ST ereyigfe w=ol @
TE e e T— @3 SfEh & wda sl ¢ faw /e e s
GO 2! SN FC

10x2 =20
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